IMD in Radio Receivers
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o What is IMD (Intermodulation Distortion)
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These can be a problem because they’re often in-band




3d Order IMD Properties
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e Close to fundamental frequencies (in-band problems)
e Amplitude varies 3x faster than input signals

\ 3rd Order Intercept

\ 3rd Order IMD increases
at 3x rate of input signals
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Thanks for watching

e Be sure to hit Thumbs Up if you liked the video
« Please Subscribe if you haven't done so already
e Click the bell to be notified when a new video is posted




